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(b) OBLIQUE VIEW

(@) ISOMETRIC VIEW

(d) RIGHT VIEW
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[23 13] 5t5(Load) HHE sHM=




. |2l BOUNDARY CONDITION 2.
A Eol 1HE0| DISPLACEMENT ALL DOF = 0 22 3,

LINES

TYPE NUM

[A2! 14] AAZA(Boundary Condition) A%l sHM2E

. o2 i 2.

« Von-Mises Stress 227} 20l

d4&E 2

SHME ZADOIM =2 20| EMEH= AMEE, ‘HEO| 2,500N9 SRS It

HHL| Olste] SHO| Yillst=R HE I,

‘MEE U ‘HE'= =S Pressure 7|52 0|23510] 7t&t
R 5= A= SHS/HHHA

= (N) (mm?) (N/mm?)
MEE 336.94 7.42
2,500

H E 479.88 5.21
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TYPE NUM

[23 15] 3l=(Load) MAE MZEE MDA
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[2& 16] AAIZZ(Boundary Condition) AAE MEZE M2
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(@) Isometric View

(b) Front View () Right View (d) Top View
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SUB =1 15+
TIME=1
DMX =1.

(@) Isometric View

(b) Front View (o) Right View (d) Top View
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STEP=1 15:2
SUB =1

TIME=]

DMX =.670964

(@) Isometric View

(b) Front View (o) Right View (d) Top View
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STEP=1 15:

(@) Isometric View

(b) Front View (o) Right View (d) Top View
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DISPLACEMENT

(@) Isometric View

(@) Isometric View
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(a) Displacement Vector Sum

(b) X-Component of (0) Y-Component of (d) Z-Component of
displacement displacement displacement

B RESULT
- Displacement Vector Sum = 1.25685mm

- Y-Component of Displacement = 0.576278mm
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TIME=1
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(a) Displacement Vector Sum

(b) X-Component of (0) Y-Component of (d) Z-Component of
displacement displacement displacement

B RESULT
- Displacement Vector Sum = 1.11422mm
- Y-Component of Displacement = -0.546247mm
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STEP=1
SUB =1
TIME=1
USUM (AVG)

(a) Displacement Vector Sum

(b) X-Component of (0) Y-Component of (d) Z-Component of
displacement displacement displacement

B RESULT
- Displacement Vector Sum = 0.670964mm
- Z-Component of Displacement = -0.652199mm
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STEP=1 15:45:44
SUB =1

TIME=1

UsuM (AVG)

(a) Displacement Vector Sum

(b) X-Component of (0) Y-Component of (d) Z-Component of
displacement displacement displacement

B RESULT
- Displacement Vector Sum = 0.663657mm
- Z-Component of Displacement = 0.651683mm
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.535E-03 001071 001606 002141

.803E-03 .001338 .001874 .002409

(b) X-Component of (0) Y-Component of (d) Z-Component of
displacement displacement displacement

B RESULT
- Displacement Vector Sum = 0.002409mm
- Y-Component of Displacement = -0.002407mm
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(a) Displacement Vector Sum

(b) X-Component of (0) Y-Component of (d) Z-Component of
displacement displacement displacement

B RESULT
- Displacement Vector Sum = 0.000536mm
- Y-Component of Displacement = -0.000521mm



(a) X-Component of Stress

(c) Z-Component of Stress

(b) Y-Component of Stress



ANSYS
NODAT, SOLUTTON
MAR 27 2018
15:19:42

(a) X-Component of Stress

(b) Y-Component of Stress (c) Z-Component of Stress
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(a) X-Component of Stress

(c) Z-Component of Stress

(b) Y-Component of Stress
|
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(a) X-Component of Stress

(c) Z-Component of Stress

(b) Y-Component of Stress
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SUB
TIME=1

S

3.64105

2.91739

(c) Z-Component of Stress

(b) Y-Component of Stress
|




(a) X-Component of Stress

(b) Y-Component of Stress (c) Z-Component of Stress



